R&G .

RACING PRODUCTS

Fitting Instructions for DG0012 BK Downpipe Grille
KAWASAKI NINJA 300 2013--

In This Kit There Should Be
1x Downpipe Grille (DG0012)
2x M6 x 30mm Button Head Bolts

Picture 1 Picture 2

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com

1



http://www.rg-racing.com/
mailto:info@rg-racing.com

R&G .

RACING PRODUCTS

Picture 5 Picture 6

TOOLS REQUIRED
e Socket set to include 10mm socket & wrench.
e 4 &5mm A/F allen key
e  Phillips screwdriver

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com

2



http://www.rg-racing.com/
mailto:info@rg-racing.com

RACING PRODUCTS

FITTING INSTRUCTIONS

e Remove both side fairings from the bike, along with the plastic radiator surround. To do
this, the bodywork and seat must be removed in the order shown in picture 1.

e Remove the two bolts that secure the bottom of the radiator, as shown in picture 2.

e  Offer the R&G Downpipe Grille into position and locate the two bolts through the top of the
downpipe grille and into the threaded boss of the radiator. If also fitting the R&G Radiator Guard
(RADO0139), position this first on the mount, with the downpipe grille fitting last, and insert the M6
x 30mm long button head bolts (make sure the original washer is positioned in front of the rubber
mount, as shown in picture 3 & 4).

e Tighten the two bolts evenly.

e Re-fit the fairings in the same method as they were removed, ensuring to reconnect the indicators..

¢  When fitting the lower fairings, ensure the front push rivet mount also secures through the bottom
hole on the downpipe grille. To do this, you may have to access this from underneath with your
hand.

o Refit the remaining panel and seat.

ISSUE 1 20/11/2012 (AR)

CONSUMER NOTICE

The catalogue description and any exhibition of samples are only broad indications of the Products and R&G may make design changes which do not
diminish their performance or visual appeal and supplying them in such state shall conform to the order. The Buyer acknowledges no representation or
warranty (other than as to title) has been given or will apply to the Products other than those in R&G’s order or confirmation and the Buyer confirms it
has chosen the Products as being of merchantable quality and suitable for its particular purposes. Where R&G fits the Products or undertakes other
services it shall exercise reasonable skill and care and rectify any fault free of charge unless the workmanship has been disturbed. The Buyer is
responsible for ensuring that the warranty on the motorcycle is not affected by the fitting of the Products. On return of any defective Products R&G shall
at its option either supply a replacement or refund the purchase money but shall not be liable if the Products have been modified or used or maintained
otherwise than in accordance with R&G’s or manufacturer’s instructions and good engineering practice or if the defect arises from accident or neglect.
Other than identified above and subject to R&G not limiting its liability for causing death and personal injury, it shall not be liable for indirect or
consequential loss and otherwise its liability shall be limited to the amounts paid by the Buyer for the Products or the fitting or service concerned. These
terms do not affect the Buyer’s statutory rights.

R&G RACING RETURNS POLICY (NON-FAULTY GOODS)
Returns must be pre-authorised (if not pre-authorised the return will be rejected). Goods may only be returned direct to us if they were purchased direct
from us (customer must prove if necessary). Otherwise to be returned to original vendor. Goods must be in re-sellable condition, in the opinion of R&G
Racing. All returns are subject to a 25% restocking and handling fee (25% of the gross value exc. P&P — at the prevailing price at time of purchase). The
customer must pay any and all carriage charges. No returns of discontinued products, unless within 14 days of purchase. This policy does not affect your
statutory rights and does not refer to faulty goods.

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com

3



http://www.rg-racing.com/
mailto:info@rg-racing.com

R&G .

RACING PRODUCTS

Instructions de montage DG0012 BK Grille protection tuyaux
KAWASAKI NINJA 300 2013--

Le kit doit contenir :
1x Grille de protection (DG0012)
2x M6 x 30mm Boulons a téte hexagonale

Photo 1 Photo 2

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com

4



http://www.rg-racing.com/
mailto:info@rg-racing.com

R&G .

RACING PRODUCTS

Photo 5 Photo 6
Outils requis
e (Clé 10mm
e C(CléAllen4 et 5mm
e Tournevis cruciforme

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ

Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com

5


http://www.rg-racing.com/
mailto:info@rg-racing.com

RACING PRODUCTS

Instructions de montage:

e Enlever les 2 carénages de la moto, avec le contour de radiateur en plastique. Pour cela,
le siege doit également étre enlevé (Photo 1).

e Enlever les 2 boulons qui fixent le bas du radiateur (Photo 2).

e Mettre la grille en position et loger les 2 boulons a travers les trous du haut de la grille
et dans le patron fileté du radiateur. Si vous avez déja installé la grille de protection
radiateur R&G (RAD0139), positionnez la en ler sur le support, et insérer les boulons a
téte hexagonale M6 x 30mm (Soyez sdr que la rondelle d’origine soit positionnée sur
I’avant du support en caoutchouc (Photos 3&4).

e Serrer les 2 boulons de fagon égale.

e Remettre les carénages selon la meme méthode que lorsque vous les avez enlevés, en
vous assurant que les clignotants soient bien branchés.

e Lorsque vous installez les carénages du bas, assurez vous que le poussoir passe a travers
le trou du bas sur la grille de protection des tuyaux. Pour ce faire, vous pouvez y accéder
par le dessous.

o Remettre le carénage restant et le siege.

ISSUE 1 20/11/2012 (AR)

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com

6



http://www.rg-racing.com/
mailto:info@rg-racing.com

R&G .

RACING PRODUCTS

Montageanleitung fiir das Krimmerschutzqitter DG0012 BK
KAWASAKI NINJA 300 2013--

Dieser Kit enthélt:
1x Kriimmerschutzgitter (DG0012)
2x M6 x 30mm Inbusschrauben

Abbildung 1 Abbildung 2

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com

7



http://www.rg-racing.com/
mailto:info@rg-racing.com

R&G .

RACING PRODUCTS

Abbildung 4

Abbildung 5 Abbildung 6

SIE BENOTIGEN FOLGENDES WERKZEUG:
e 10mm Steckschlissel
e 4 & 5mm Inbusschliissel
e Kreuzschlitzschraubendreher

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com

8



http://www.rg-racing.com/
mailto:info@rg-racing.com

RACING PRODUCTS

MONTAGEANLEITUNG:

Entfernen Sie beide Seitenverkleidungen und die Plastikabdeckung fir den Kiihler. Bitte die Teile
unbedingt in der dargestellten Reihenfolge (siehe Abbildung 1) entfernen!

Entfernen Sie die zwei Schrauben, die den Kihler unten befestigen — siehe Abbildung 2.

Das R&G Krummerschutzgitter in Position fixieren und die zwei Schrauben durch das Krimmerschutzgitter
(oben) dann in die Lochplatte am Kuhler einschrauben. Wenn Sie auch den R&G Kihlerschutz (RAD0139
montieren), zuerst den Kihlerschutz auf der Halterung positionieren - das Krimmerschutzgitter zuletzt
montieren und die M6 x 30mm Inbusschrauben einschrauben (die Original-Unterlegscheibe vor der
Gummihalterung positionieren — siehe Abbildung 3 & 4).

Ziehen Sie die zwei Schrauben gleichméRig fest.

Montieren Sie die Verkleidungen und verbinden Sie die Blinker wieder.

Bei der Montage der unteren Verkleidungen darauf achten, dass die Halterung, die mit der
Linsenkopfschraube befestigt wird, auch die untere Offnung im Kriimmerschutzgitter mitbefestigt — hierbei
missen Sie eventuell mit Ihrer Hand von unten zugreifen.

Montieren Sie die ubrige Verkleidung und den Sitz.

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ

Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com

9


http://www.rg-racing.com/
mailto:info@rg-racing.com

